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are in the ratioof 9 : 12 : 23. If sum of
these numbers Is 528, ratio between the
difference of B and A and the difference
of Cand B is —

T27 1- 1 JeATd A, B 3% C T SIq419 9:
12: 23@?1'[%{ = TRITAT Fl AT 52§%’A?ﬁ
B 3T A & 3{d¥ 31T C 3T B & Id< & a3

A.2:11
B.4:11
C.3:11
D.5:11

E.None of
hece

T AT FIT 872
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Income and saves the some part it. The
ratio of his expenditure and saving is
26:3. Then find his saving if his income is

Rs 14500. - .
T 2- ST AU AT T T 2T @ i

ST SHH ¥ g (R I97d g1 396 =13
T AT ATATT 26:3 gl TS It 3T

14500 93 g, d
g, Al Iehl a9 mwm

B.Rs 750
C.Rs 550
D.Rs 850

E.None of
hece




SBI PO 2023

clylenle A B and C such that sum of A and
Bis equal to C’s sum. Find difference
between share of A and B’?

T°7 3- T €7 AT A, B 3% C & o= T TF1Y
EEURSAERUE IS R R - R R I
% I % I21e2 2Nl A T B & &8 1=

FT A< T4 Wzooo

B.Rs 6000
C.Rs 2000
D.45000
E.Information

inadequate/STTT T g
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groups are in ratio 2:3:5. If 20 student
iIncreased in each class then ratio
becomes 4:5:7 then find total number of
student initially?

U7 4- T A THB1 | 2 (SRt IquTd 2: 3:
HEIEEREECIEPIRIEE IR

AT 4: 5: 7 T STAT &, q1 ITEA H AT 0

A.500
B.100
C.200
D.400
E.None of the

Tl FAT ST i
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Questlon 5- D|V|de Rs 11700 among P,Q and R
in ratio - % — and find the share of Q and R

I 5- 11700@44 FTP, QT RF = 3 °h— =

—?ﬂ-ltud H fasrierg oh<3ﬁTQ3ﬁTRE|?r%?HT§|TcF
E2d

A.Rs 3600,
Rs4600

B.Rs 3600,Rs
<1610]0,

C.Rs 3600, Rs
() ()
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ratio3:2 and there expenditure are in ratio
5:4. If each saves Rs 8000 then find sum
of 20% of income of A and 30% of
income of B?

T°7 6- A ST¥ B =T S T T 3:2 § 1Y
S T AATT 5:4 gl Tt I i<k 8000
&0 TFTAT @, at A &l 3T T 20% 31X B it
A T 30% TN AT IS A Rs 5800

B.Rs 4800
C.Rs 3800
D.Rs 6800

E.None of
hece
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Question 7- Ten years ago ratio of the

age of P,Q and R was 2:3:4. Now the

sum of there present age is 93 years.

Find the present age of R?

T2 7- 39 F9 98 P, Q ¥ R AT 1 %

:_éwld 2:3:4 AT\ T FAATT g T TIT 93
gl R &1 JaHT 3 AT hiford?

A.48 years
B.33 years
C.38 years
D.44 years

E.None of
hace
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gold and silverin ratio 7:2 and 7

respectively. If equal quantity are alloys

are melted then find the ratio of gold and

silver in newly formed alloy?

g7 8- 27 T o A 3l B | |14 3T ATal

e ?ﬂ%;ﬂcl PR 7:2 3T 7:11 €1 A< T
=T eTqett, 1 o= Sat €, v

IS T &1 ® |19 3T ATl T AT

SIREEJISEL A.9:9
B.7:5

C.5:7
D.9:5
E.None of




~

in ratio 7:5. Now 30 liter of liquid B is
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added to it then this ratio becomes 7:8.
Find the initial quantity of jar.

TH T A ST B &7 a1 7:5

A TEH 30 ATy ¢ B e Siran 2

g AATd 7: 8 BT SATAT B ST T ITLHF

EF{J O- TH S
A
HTAT 3T hitord|

A.80 L
B.70 L
C.150 L
D.120 L
E.None of






